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6 cm - kostka brukowa
5 cm - podsypka piaskowa

zarys istniejacego rowu

U
obsypka z ttucznia /C\L_L/

rura drenarska g 315




6 cm - kostka brukowa

5 cm - podsypka piaskowa

obrzeze 8x30cm
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0,14




betonowe
wielootworowe

|

|
istniejaq‘a jezdnia

|

|
|
0.3%

przykanalik g 150

przykanalik g 200

dno studzienki
plyty betonowe /
wielootworowe

1,50 1,50-2,50 2,75 2,75

umocnienie skarp
plyty betonowe
wielootworowe

ok. 1,50

2,00




5,00

chodnik zieleniec

Zjazd

chodnik Zieleniec

krawgznik wtopiony

1,50

5,00

1,50

jezdnia

jezdnia




